USER MANUAL
Version 2.0 « May, 2023

The picture is for reference only,the actual product shall prevail



Blank page



Part 1: Packing List

Part 2: Mechanical Assembly
Part 3: Electrical Setup

Part 4: Lightburn Setup



(Part 1]Packing List -

2040-Bottom trwack

2020-Bottom left track

2020-Bottom right track

2020-Column track x2

One has 4pcs M4X8 screws and 4pcs T-nuts

\

Screw M5x20mm X6

Corner Bracket x2

Tool kit

Rotary Extension w
Cable
Motor Cable

Limit Switch Cable

o - - —

/" Power Supply

Power
Adapter

[
1
I
I
I
I
I
1
I
I
I
I
I
1
I
I
I
I
I
1
I
I
I
I
\

Devill 3




(Part 1]Packing List -

GT2 Belt Screw 3x6mm x4 Screw 3x8mm x4

Atomstack Module
Adapter*

Z Adjust '

*Depending on kit purchased Countersunk Screw 3x8mm x4*

\v

L —

xTool Module

Adapter* TwoTrees/Laser

Tree Module
Adapter*




(Part 2)Mechanical Assembly

Step 1

Parts Required:

------ Screw M5x20mm X4
------ 2020-Bottom left profile
------ 2020-Bottom right profile
------ 2040-Bottom profile

Assemble the three profiles using M5x20 screws.
Note: The left and right profiles are different




(Part 2)Mechanical Assembly

Step 2

Parts Required:

------ Screw M5x20mm X2
------ STEP 1 Assembly

------ 2020-Column profile x2

Assemble the upright profiles by installing the
M5x20 screws upwards through the bottom of the
base.




|Part 2]Mechanical Assembly

Step 3

Parts Required:
------ Corner Bracket x2
------ STEP 2 Assembly

Fix the Corner Brackets onto the profile using the
supplied screw and T nuts

Note: T-nut needs to be put into the

profile V-slot vertically first, and then
make the T-nut tighten inside the profile S\
by tightening the screws. |

= &

o

N




(Part 2]Mechanical Assembly

Step 4.,

Parts Required:
------ STEP 2 Assembly
------ X Gantry

Adjust the square nut and POM wheel above
the X-axis crossbar, align the profile slot and
push it into the X-axis crossbar

Note: If assembly is difficult, see next
page for adjustment details




(Part 2)Mechanical Assembly

Step 42/2

If it is difficult to push the wheel into the profile, you can use an open-end
wrench to adjust the eccentric nut on the inside of the carriage (adjust the
eccentric nut V slot in the loosest state when putting into the X-axis, so that the
eccentric nut V slot is far away from the profile; after putting into the X-axis,
slowly rotate and adjust the eccentric nut, and each time you adjust it, you need
to observe that all POM wheels fit the profile and move without jamming)
When all POM wheels fit the profile and can move smoothly and the X-axis has
no obvious shaking, the adjustment is finished.

In total, there are four eccentric nuts that can be adjusted.

A mEmmmE e m e e e e e e e e e e e e e m e m E m mm m m m [ mm e e e e e e e e e mmmmmmmmmmm

Right rear AN ™

~

o e — — — — — — — — — — — — — — — — — — ——————




(Part 2)Mechanical Assembly

Step 5

Parts Required:
------ STEP 4 Assembly
------ Profile cover x6

Adjust the Z-axis height and tighten the hand screw. s
Finally the profile end is pressed into the profile
cover.

Connect to




(Part 2)Mechanical Assembly

Step 6 — xTool & Atomstack

Partsi Required:

------ STEP 5 Assembly

------ Belt Clip

------ xTool Module Adapter
------ Screw M3x8mm x4
------ Screw M3x6mm x4
------ GT2 Belt

Place Belt Clip on X gantry linear block

Place Z Adjust over Belt Clip

Use M3x6mm x 4 to attach Module Adapter to Z
adjust, two per side

A

"T/ @

/]

(@@
G

{

[ o

/ / ""
w

f————"1
-~

(@

A

a




(Part 2)Mechanical Assembly

Step 6 — Twolrees & LaserTree
Modules

Parts Required:

------ STEP 5 Assembly

------ Belt Clip

------ xTool Module Adapter

------ Countersunk Screw 3x8mm x4
------ Screw M3x8mm x4

------ Screw M3xébmm x4

------ GT2 Belt

Place Belt Clip on X gantry linear block

1
-

Place Z Adjust over Belt Clip

Use Countersunk M3x8mm x4 to attach module to
Module Adapter, matching holes




(Part 2)Mechanical Assembly
Step 6 — Belt

Parts Required:
------ STEP 6 Assembly
------ GT2 Belt

Install belt so that it runs across the X gantry, through
the tensioner at the left (per image) and around
gear on the right (per image).

Run belt under belt clip and through
slot on each side so that the metal
clasp catches on the belt clip to hold
the belt in place

Use tensioner to tighten belt so that
there is no slippage when module is moved
back and forth rapidly




(Part 3]Electrical Assembly

Step 1

Parts Required:
------ Devill

Remove four (4) screws from bottom of Devill

Remove bottom plate of Devill




(Part 3]Electrical Assembly

Step 2: xTool

Partsi Required:

------ Devill

------ xTool Laser Module
Cable

Connect Laser Module cable to Devill

gom Emm o o o o oy,



(Part 3]Electrical Assembly

Step 2: Other Module

Parts Required:

------ Devill

------ TwoTrees, Laser
Tree, Atomstack M40 &
M50

Laser Module Cable

Connect Laser Module cable to Devill

o EEm EEm o o o o




(Part 3]Electrical Assembly

Step 3

Parts Required:
------ Devill
------ Limit Switch Cable

Connect Limit Switch Cable to Devill

o = o = = ==y,
:x
N
\
N\
N




(Part 3]Electrical Assembly

Step 4

Parts Required:

------ Devill

------ Rotary Extension
Cable

Connect Rotary Extension Cable and
Devill

_———\———‘
\
\




(Part 3]Electrical Assembly

Step 5

Parts Required:
------ Devill

------ Four (4) screw
from Step 1

Replace bottom plate of Devill

Replace four (4) screws from bottom of Devill




(Part 4]Lightburn Setup

Step 1

Required Files:

------ Hybrid2 Ibdev file
https://geeks-at-large.com/su
pport/hybrid2-production-edit
ion-support/

Before Proceeding, it is advisable
to flash the Devill firmware to the
latest version. Files and
instructions can be found at the
product support page link above

On the Laser tab in Lightburn, click
the Devices button

8() Disconnected

' l Pause . Stop

60 E} Frame

@0 Cut Selected Graphics @0 Enable Red Light
@0 Optimize Cut Path Optimization

[ Devices ](Auto) v JCZFiber (Ur

Show a list of devices supported by LightBurn
Right Click to reset the current device connect

20




(Part 4]Lightburn Setup

Step 2

On the Devices window, click the
Import button

Step 3
Select the Hybrid2 Ibdev file

Click the Open button

4

Create Manually LightBurn Bridge Import

Edit Remove Export Import

) Cancel
P ————

Name Date modified

& hybrid2Ibdev 12/25/2022 11:20 Py

me: |hybrid2.lbdev v




(Part 4]Lightburn Setup

Step 4

Select Hybrid2 from the list of
devices on the Laser tab

Step 5
Click File, then Machine Settings

Laser

Disconnected

l' Pause

@0 Cut Selected Graphics
@0 Optimize Cut Path

Devices (Auto)

B s

E] Frame

@0 Enable Red Light

—>

P start

Optimization Settings

JCZFiber (Unknown) v
XTool D1
Devill Beta
Devill
Micrp
JCZFiber (Unknown
oria

GRBL

Laser Library

B <untitled> - LightBurn 1.2.04
File Edit Tools Arrange Laser Tools
Eb @ Undo Clear selection

@ Redo
XPos
Select All

Invert Selection

I3

Cut
Copy
Duplicate
Paste

Paste in place

8 ®F&+00

Delete

Convert to Path
Convert to Bitmap
Close Path

Auto-Join selected shapes
Optimize selected shapes
Delete Duplicates

Select open shapes

Select open shapes set to fill

Select contained shapes

Image options

Settings
Device Settings
Machine Settings

ENNM S ARIAT AR anTIDANMAS?

T EBxo

Debug Drawing
- Convert to cut (debug)

Close selected paths with tolerance

Select all shapes in current cut layer

Window Language Help

Ctrl+Shift+Z

wz  DOMI@ D@k BL BAT

Ctrl+A
Ctrl+Shift+|

Font AR ESSENCE
Rotate 0.00 : mm

@0 Bold O Italc

Ctrl+X 120
Ctri+C
Ctrl+D
Ctrl+V
Alt+V

Ctrl+Shift+C
Ctrl+Shift+B

Alt+)
Alt+Shift+0
Alt+D

100 200 £ui 289 20 35

B0 Move @0 Size @0 Rotate @0 Shear

x: -30.50, y: 414.50 mm

—— —— - i e - ~-
EDpODEEDE 2 » =0

|
Pt



Part 4 |Lightburn Setup

Required Files:

------ Hybrid2 Ibset file
https://geeks-at-large.com/su
pport/hybrid2-production-edit
ion-support/

Step 6
In Machine Settings, click the Load
from File button

Select the downloaded Ibset file

Step 7
Click Write button

Click OK button

Power Devill off and then back on

sl% B Machine Settings - LightBurn 1.2.04 ? X L ciA
Rotate £

% 1 A
* | Property value Al &

T2 e General config §( n

Status: Position reporting ($10) Machine Position

= Status: Show buffer data ($10) .J True ’7|

Junction deviation (mm) (S11) 0.0100 ) n F:

Arc tolerance (mm) ($12) 0.0020 0 st
Report inches (§13) Om False 3

Soft limits ($20) OB False !

Hard limits (521) @0 True 3 :}‘:3:

Homing cycle ($22) @0 True :ii;

Homing feed rate (slow) (mm/min) (524) 1,000.00 ) |s13:

Homing seek rate (fast) (mm/min) ($25) 3,000.00 $114-

Homing debounce (ms) (526) 250 :ig

Homing pull-off (mm) (§27) 2.000 3 |s121-

Max spindle speed (RPM), S-Value max ($30) 1000 zg,

Min spindle speed (RPM), S-Value min ($31) 0 $124-

Laser mode enable ($32) .J True { :gg

s131:

£ Step pulse (microseconds) (S0) 10 82

Step idle delay (ms) (S1) 25 $134:

i’ Step enable invert ($4) OB False :‘:35'
Limit pins invert ($5) @0 True 3

: Probe pin invert (S6) g True Ly (type
Controller settings read successfully b

Save to Fie Calibrate Axis Read D

Write %1 s

q—mad from File Load from Backup
I Load settings from a saved file ] I OK I Cancel |

£ Machine Settings - LightBurn 1.2.04 ? X 1< |align x [Middie ] [Ne
BE Align Y [Middle ~ |Off
Property value Al £
General config 3¢
Status: Position reporting ($10) Machine Position Camera
Status: Show buffer data ($10) @0 True Update Overlay
Junction deviation (mm) ($11) 0.0100 ! @ .
Arc tolerance (mm) (512) 0.0020 &0 Show
Report inches ($13) Om False )

Homing and Limits

Soft limits (520) O False 105=100.000
Hard limits (521) @0 True 3 | $135-10000.000
Homing e 620 0 e 1o
Homing feed rate (slow) (mm/min) (524) 1,000.00 3 | $113=1000.000
Homing seek rate (fast) (mm/min) ($25) 3,000.00 $114=1000.000
% $115=1000.000
Homing debounce (ms) ($26) 250 $120=800.000
Homing pull-off (mm) (§27) 2.000 J | $121=800.000
Max spindle speed (RPM), S-Value max ($30) 1000 gﬁfiosggg
Min spindle speed (RPM), S-Value min ($31) 0 $124=200.000
Laser mode enable ($32) ﬂ True } :ig:ﬁggg
S50
Step pulse (microseconds) (S0) 10 b} :gg::%%ogw
Step idle delay (ms) (S1) 25 $134=300.000
Step enable invert (S4) OB False 3:35-300.000
Limit pins invert (§5) n True 3
Probe pin invert (S6) 2 True v (type commands here)
Controller settings read successfully | Focus
Save to File | Calbrate Axis Read Macro3
Load from File | Load from Backup yers  Laser

[oc ][ concel



(Part 4|Lightburn

Step 8
Finished!

Setup

-120 -8U -40

-120 -80 -40

02 8l A e L

65.00, y: 180.00 mm

a sy Ty
“To O E wa vy TOU

U 4 a PN 3
U oU 17U 10U

22 » » BEE> » BE

200

200

240

240

280

280

320



